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/2-N—43

Work out p +q.

s
Answer ( ) [1]
I 3—n—1¢,
0, 2 [ 5 =3
: m=| ) n= 6
Work out
(@) m+n,
Answer(a) ( ) [1]
(b) 3n.

Answer(b) ( ) (1]

0 9 Write each of the following as a single vector.

@ [1)+03)
o 43

Answer(a) ( ) [1]

Answer(b) ( ) [1]
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0 4 Work out.

Ere
E

0 5 Work out
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Answer(a) [1]

Answer(b) (1
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06 a=( )

6.

Work out 2a —b.

Work out a — 2b.

Work out

3a+b.

J—N—=jp

s
1-7-1vy
-1 .
J
Answer [2]
Answer [2]
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N=n=15"

Work out 3p — q.

AP

Answer ( ) [2]

" 0 /2-7-1 %

Write each of the following as a single vector.
(a) 6a

Answer(a) ( ) [1]
(b) a+b

Answer(b) ( ) [1]

Mob: +874 55373670 / 33787500
E-mail:chymuc mithammad@mail.com
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Work out

(a) 3m,

(b) m-n.

Maoh: +874 5537
E-maii:chyrarc. mieh= 1y

P2—N—1 4,

Find

(a) 4a,

(b) b-c.

Answer(a) ( ) [2]

Answer(b) ( ) [2]
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q _ A%
') ()
5 7
Write each of the following as a single vector.
(a) 3a
Answer(a) [1]
(b) a-b
Answer(b) (1]
© UCLES 2015 0580/11/M/7J/15
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(a) Work out.

| )+

14

(b) A4 is the point (3, 6) and B is the point (5, 10).

Work out AB.

— (1
(¢) Cisthe point (5, 8) and CD = <2>

Find the co-ordinates of the point D.

© UCLES 2016 0580/13/0/N/16

Write each of the following as a single vector.

(a) 2a

(b) a—b

Mob: +974 55373670 / 33787500
E-mail:chymrc.muhammad@ymali.com

Answer(a)

Answer(b)

[1]

(1]

L A
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1 6 (a) Work out.

o)
W 5|

Answer(a)(i)
4 3
e N
o (—5 ) (—1 )
Answer(a)(ii)
(b) A translation moves the point (6, 3) to the point (2, 8).
Work out the vector which represents this translation.
Answer(b)

Mob: +874 55373670 / 33787500
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4
(¢) Apoint P is translated by the vector ( 3 ) to the point (7, -2).

Find the co-ordinates of P.
You may use the grid below to help you.

Answer(c) (ccoeeevuen... 5 FEEEER AL eI ras ) [1]
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Question 9 is printed on the next page.
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3‘7 (a) GH = (_ 6)
Find

(i) 5GH,

(i) HG.

o ()+()=G)

Find the value of y.

14  These are the weights, in kilograms, of 10 babies.

3.7 2.7 3.5 3.8 3.1

(a) Find the range.

(b) Calculate the mean.

3.0

Mob: +874 55373670 / 33787500
E-mail:chymrc.muhammad@gmall.com
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18 (@) l)=(_;) ‘1=(_3)

Mob: +974 55373670/ 337 QO g

E-mai:chyrarc.mihanimadf;;

(i) p-gq.

(b)

— 3
Point B is marked on the grid and 4B = ( )

On the grid, mark point 4. [1]
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. =2 .
2 0 (a) Write 3( 1) as a single vector.

(b)

L L

(1]

— (=7
Point 4 is marked on the grid and AB = ( 4) .

On the grid, mark the point B.

© UCLES 2016 0580/13/M/J/16
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s )2 - ~N—
2 1 (a) ’5
: )
A
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Points 4 and B are shown on the grid.
Write AB as a column vector.
Answer(a) AB = [1]
(b) CD= >
T\=7
Write DC as a column vector.
Answer(b) _D—C7= [1]

Mob: +374 55373670/ 33787509
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Points 4 and B are shown on the grid.
Write AB as a column vector.
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b
Points A and B are shown on the grid.
(a) Write AB as a column vector. )
Answer(a) AB = [1]
(b) Write 348 as a column vector.
Answer(b) 348 = [1]
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2. B S .
sdo A i IS UUY. SUUUUS NS S
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2 P TP LU S R IR U DI
: ; ' ] i : ; ; Mob: +874 55373670 / 33787500
l R SO X e e dne o e loss 2 i o e R e E-mail:chymre. muhammadi@gmall.com
0 i f i f i I i X
1 2 3 4 5 6 7 8
(a) Write down the co-ordinates of 4.
Answer(a) (cooveeeeennnn. 5 ieesbenadsisiTEIREE ) [1]

(b) Write down the vector AB.

Answer(b) /ZI_Z; = ( ) [1]

(¢) Work out.

Answer(c) [1]
(d) Work out. (‘__ 3 )
6

Answer(d) [1]
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The points P and Q are marked on the grid.

(a) Work out the vector FQ

0 Q’ﬁ=(:f)

Find the co-ordinates of the point R.

Answer(a) FQ -

Answer(h) (covvvvvveene s ceveeeeene,

(1]

For
Examiner’s
Use
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2 6 The diagram shows two points, 4 and B.

Write as column vectors

(@) 4B,

(b) 3BA.
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Answer(a)

Answer(b)

13—t 4

(1]

(1]
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27 (a) Work out. F-12-17

(b)

i 1 : i i i : | i
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Points 4 and B are marked on the grid.

-  [—4
o= < 0)
(i) On the grid, plot the point C. [1]

(i) Write AC as a column vector.
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28

(a) Write down the co-ordinates of point 4.

Answer(a) (

---------------

(b) Write AB as a column vector.

Answer(b) AB =

W
(c 5

Write down the co-ordinates of C.

Answer(c) (

---------------

For
Examiner's
Use

) (1]
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The diagram shows two points, 4 and B.

—

(a) Write down the column vector AB.

[1]

—

Answer(a) AB =

(b) AC =

[1]

(i) On the grid, mark the point C.

=

(i) Write down the co-ordinates of (.

) [1]

g ersresssisesseeinnes

Answer(b)(i1) (.ocoovvvevienneennn,
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3 ,
PR B
e e et
—— '. ——
-6 -5 =4 3 =2 -1 0 1 2 3 4 5 6
I TN T S O
SRS RS S S p— — 1 :
I :
R e
--------- A TN T S N S S W e
N R N ’ ‘ 5 WORON NS JUUSUI SRSV SN -
(a) Write down the co-ordinates of point 4. ’
f oo it s e ) [1]
(b) Plot the point (5, -2).
Label this point C. [1]
(¢) Write down the mathematical name of triangle ABC'.
................................................. (1]
(d) Write AB as a column vector.
AB = [1]

o 7

Write down the co-ordinates of point D.
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